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Read the following instructions carefully

Il:iuu you open the qm:lﬂnn booklet.

Answers arc (o be given on a separate
answer sheet (OMR sheet).

2. Write your Roll Number'as allotted to vou in
the admission card very clearly on the test-
booklet and darken the appropriate cirules
on the answer sheet as per instructions
Eiven.

3. There are 90 gquestions in this test. All are
compulsory. The question numbers 1 1o
35 belong o Scicnces. 356 W@ 55 o
Mathematics and 56 to 90 are on Social
Sclence subjects.

4. Please follow the instructions given on the
answer sheet for marking the answers.

5. If you do not know the answer o any
fuestion, do not waste time on it and pass
on o the next one. Time permitting, you can
come back to the questions, which you have
left in the first mstance and attempt them.

6. Since the ume allotted for this guestion
paper is very limited, you should make the
best use of it by not spending too much tume
on any one guestion,

7. Rough work can be done on the given
Blank Pages at the back of the booklet
but not on the answer sheet/loose paper.

8. Every correct answer will be awarded one
mark. There will be no negative marking.

9. Please return the Answer sheet [OMR
Bheet] only to the invigilator after the
test. .

10, Hindi version of the guestion paper will be
considered as final in case of any dispute
arising out of variation in translated versior.
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Viferen dreerar adier
SCHOLASTIC APTITUDE TEST
TH YU U 90 UV § | URdSh W U SF S |
THERE ARE 90 QUESTIONS IN THIS PAPER.
EACH QUESTION CARRIES ONE MARK.
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The velocity-time graph of a body falling from rest under gravity and rebounding
from a solid surface is represented by
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Viferas drraar wiian
SCHOLASTIC APTITUDE TEST
THUF-UAH HE 90 UV § | Uk WA U AH B |
THERE ARE 90 QUESTIONS IN THIS PAPER.
EACH QUESTION CARRIES ONE MARK.
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The velocity-time graph of a body falling from rest under gravity and rebounding
from a solid surface is represented by
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2. Pt d 1 1 g0 W w9 owm 1 faE sem Al @ wmel § oue s
TEAFT aW B
(1) :Eﬁr | (2) 6675 % 10-11N
(3) 13350 x 10 VI N (4) 38337 x 10~ N,

The gravitational force between two objects of mass 1 kg each, separated by a

distance of 1 m in vacuum will be
(1) zero 12V 6:675 x 1011 N
(3) 13350 =10~ 11 N (4) 3.337 =10~ 11N,

B, o THUA RIS W F TR FE S w T AR g o famme () wd oww
(F )= fean 9/ % g ardl i wefvha 1 78 & | =@ g f s B

i

(1) 997 9% (2] e
(3 I= {4) HATHE T HOTEF |

The force F is acting on an object of mass m. The direction of displacement
( ) and force ( F] of the object 1s shown by an arrow to the right side. Work
done by the force will be

v
F

1) positive {2) negative
3] zero (4) either positive or negative:
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[ A i
4. fau m wfreg fa3 6 umr | A Seed v A E

| 20
|
AW o
| i ?
+
1A == % 60 260 '
Y
AN o
20
(1] 2A, 4V (2) 4A, 2v
(3) 1A, 2V (4] 24, 1V,

The value of current I and voltage V in the given circuil will be

SR8
2 WWW— T 8
I '
+
12V _—!—_ B L2 20 v
| v
AW o
20
(1) 2A, 4V 12) 4A, 2V
-48) 1A, 2V [4) 24, 1V.
5. WRFTEA, o, = Hrar Faw = g B R
(1) Ham (2) smEw
(3) I T (4) F=t |
Lenz’s law is a conscquence of the law of conservation of
(1) momentum (2) charge
181 angular momentum (4) energy.
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6.

e Wfiieaf G & fery s S A WA § =S T EE e
( fem & @ H M = 344 m/s )

() 172 m 20 344 m

(3 172 m (4). 344 m.

For hearing distinct echoes, the minimum distance of the obstacle from the

source of sound must be | Given velocity of sound = 344 m/s )
AWy 172 m (2) 344 m

(3) 172 m 4 344 m

A FAE Wikl & v #9 H v aved & S0 W@ wgd W5 W i e g5 5=
A Yl B FR F9 Y vodeem Fwn | S8 W ukw g s

(1) 20w | 2) 25W

(3) 40w [4) 45 W

Three equal resistors connected in series across a source of V voltage Logether
dissipates 5 W power. If the same resistors are connected in parallel across the

same source of voltage V, the power dissipated will be

(1) 20w : @ 2B/8W

[é] 40 W @y a5 W

Yol TH e W See B §

(1) 3w fereli =1 (@ T el @

(3) x-fFvol = @) wr.:lé‘n;ﬂr oo = |

Every hot oblect emiis

M)  infrared rays {2) visible rays

(3] X-rays (4] ultraviolet rays.
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9. UF IF { A 10 g F W 160 ms - L A A afer foon ¥ St wd e ¥ e
= A dad FAF 0.02 5 T oy % fogw 7 oy & | == F Tt gra e Mo @ oA

Ll
(1) 1.20m 2] 160 n;
(23} 2.00m (4] 240 m.

A bullel of mass 10 g travelling horizonally with a velocity of 160 ms ' strikes

A slationary wooden block and comes o rest in 0.02 = The distance of

penetralion of the hullet into the hlock will be P 1 .

(1} 1-20 m /}87 1-60 m . ‘

2] 2:00m 4) 240 m Sl

10, e F W o 791 r § TET g F -

{ Hehd] % v e ¥ )

1 r = %—“’U R iy

3) F=L;iu 4) 3:}1;‘

The correct relation between u, v and rfor a lens will be

[ svmbols represent traditional meaning ) ¢ A

e s 2 @ reg
B r= .ui_u (4] 3‘ - fl : It_1 ' o k
L1, 58 9% #1589 H garn o, F et we ge w5 U

(1) weafer 9 & i 2) Tt TwF R ‘I*"”" = 5
Ny, -

(3 dfers 2P s (@) dferst amdt #hr v

When a body is timmersed in a liquid, the buoyant foree that acts on Lhe bt:d}f

will be |

(1} wvertically downwards v{i‘i vértically upwards

(3) horizontally right side - (4} horizontally lell side.
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12, Sfvgedd @ T A 9 & 99wt g, @ g & g e

“ Ir_“ JFH
. ® T
& Lyl @ f,-fe

The distance between the objective lens and the eye-piece of an asironomical

telescope will be

(1 o 2 e
7. |
B fo+f, A Teg=da

13, e sl ol | o oEm d
(1) NacCl (2) NH ,CI
(3) AN (4) MgCl, .
Salt made of non-metallic elements only is
(1) NaCl 2] NH I
(3] AN (4] MgCl, .
14, THUETE G A SE G e 2
(1) =Ee (2) w=EA
{3} efshdl (4) T -
By which property are gases and liquids different from solids 7
(1}  Volume - }Z‘I Mass

(3]  Conduclivily {4) Fluidity.
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15, HET H el G wer # vfEm L m Ao & |
(1) =& # faermm
(2) =TT Tt T
(@) == farit m
(4) e it vH s frh, 2 ey w5 ety
The action of dleaning of oily dirt by soap is hased on
(1] solubility in water
{2} hydrophilic property
(3] h}rdruphdbit: property
(4} presence of both hydrophilic and hydrophobic groups.
o
16, ?ﬁ:’%mmﬁqﬁwﬁmmwmﬁmmﬁmwgw
{I) Nat 2) Mg2+
(31 A12+ 4] Al
Adding an alpha particle to nucleus of sodium atom, product will be
¥ Na* (2) Mg2+

(3] ALZ+ 4] AL

17, w93 ¥ s AEH T e

1] & 2) 9
3 12 {4) 15,
Bengene has caiaiigs number of covalent bonds.
(m 8 e
(3 12 (4} 15.
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8. % T S oot Sy T 3
) T ot vy g o T A =y ¥
(2) WﬁaTmmﬂm@mmaﬂmwﬁ%
@3) T ¥ R g W % e g
W il £k T
False siatement for second pﬁﬂod clements is
{1 change in number of electrons produces ions
(2} numbers of p;rumns and electrons are equal in neutral atom
VL‘})-'" i-m mber of neutrons s less than the number of protons in atoms

(4} change in the number of neutrons i alom produces isolopes.

9. T4 g A H wEre fawei TE T T 2
(1) Cu 2] Mg
(3] Zn 4) Na.
Which.mf:lal cannaot displace hydrogen from dijute Acids 7
A Cu (2) Mg
3 Zn . M4 Na.

20, F % WY W 7 e &

(1) w7 (2} FHis

(3) W& (4)  =EER
Al room lemperature liquid non-metal s

(1} carbon 2] bromine
3] mercury (4 fodine,
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91, g e sEEE T §

i) H

Y

Neutronless neulral atom is
T

3} Na
22, vy sfafwa 2
(1} CaO{s)+H,0(1)
(2) Pb[s)l+CuCl,(ag)
(3) MnO.,(s)+4HCI(])
{4 CBIIIQOE+EUE
Displacement reacticn is
(1) CaO(s)+HL0(L)
\ﬁ" ‘Phis)+ wEuCl2 [ o)
(3) MnO,(s)+4aHCILT)
4) CgH 504 +60g
03, TrE-FEZT # pH EE ¥
n 7
(3 =7
 pll of soda-waler is
{1y 7
3 =7

NTSE([)/14 - SAT
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[11)

2) He

{2} He

4] K.

Ca(OH),1ag)
PbCl, (ag)+ Culs)
MnCl, (s)+2H,0(1)+Cly(g)

6 CO, +H,0

Cﬂ{DH]QlG{]}
PbClgi'aq]+Cu[5]
MnC]E'[5]+2H20{I]tC12{g]I

6 CO., + H 0.

2] <7

4) 0.

ey <7

4 0.
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(1) T, =neer st wem (2) T, T sk
'[31 1, e sy (4] =mEe, Jwe s e

Three crops that contribute maximum to global foodgrain production are
\_/[1)« “Wheat, Rice and Maize (2} Wheat, Rice and Barley
' (3)  Wheat, Maize and Sorghum (4)
25. WvE 3 Eform i 4 AW g, 57 #

w

(1) ForTee (2) =it

Rice, Maize an Sorghum,

(3) T [4) enEEEmy |
Cell organelle ‘Bioplast’ was glven another name by Benda, whick Is
)" Chloroplast (2}  Mitochondria
{_3]' Ribosome 4] Lysosome.
26. 9N F weHifas st Frifm g ¢
() wedgty 2) T frp
(3)  =ifor forurem () e = i
In plants abscisic acid vonlrols
A growth in shoot (2} fower formation
(3)  cell division (4) [all of leaf.
27, Tt At F o g w2
(1) it famves fam (2) Ty W fg
(3 R 4 SEmm du
The source of CNETEY in any star is
(1] Nuclear fission reaction ~A2)  Nuclear fusion reaction
(3) Solar energy (4]  Fossil fuel.
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28. fewismm =iz #9 #1 9 F9= F fewdisge #5951 THmm afys T & =it
(1} o8 wem 2
(2) 4% EE ¥ ST
(3) THFI I9: T9AD B HeEAl E
(4) THHR TFEHT  wEE Wl gwaE T8 g |

The use of disposable paper-cups is more beneficial over disposable plastic-

cups. because

(1) it is cheaper

(2) it is easily available
(3) it can be reused

4] its recycling process has no harmful impact on environment,

29. wrgwEtTsE] 1 gordry g #

(1) srifom (2) Temfora

(8) Fagfom (4) =g |

The endosperm of angiosperms is

4 haploid [2) diploid

(31 triploid {4} polyploid.
30, 'mﬁﬁ'mw#m%‘

(1) =mHr : (2) =i

(3] famitheg (4) Fey fefe |

The author of the book ‘Syslema Naturae® is

(1} Lamarclk (2) Darwin
(3} Theophrastus {4}~ Carolus Linnaeus,
NTSE()/14 — SAT ' | P.T.O.
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31. T H | B Wi & dfiem fae adon & o
(1) e 2) fa=g
(3) ! | (@) FiE |

In which of the tollowing animals jointed legs are not found 7

(1} Palaemon (2) Scorpion L
(8) Housefty ) Leech.
32, ﬁnﬁﬁ#—mﬁmﬁwﬁnﬁfﬁmﬁﬁ% ?
(1) fomfeag (2) T
(3) e (4) w=F |

Which of the following diseases is not related with sexual transmission 2

(1) Syphilis (2) Gonorrhoea
A3 Allergy (4) AIDS.
33. T 4 B -3 Tom w1 omy S v o
(1) = @ "=
(3) = (1) THEE |
Which of the ft;_bllnwlng enzymes Is related with dlgﬁstlc}p of protein ?
(1) Lipase 2] Pepsin
(3] Sucrase {4) Amylase.
34. iy =1 el | g At v ) wy
(1) wvzg @) s
(B) =g (4) RSN FoF |

i | e,
=

The structure that connects a bone with muscles Is known as
_W Tendon - (2) Cartilage
3 Ligament ' (4] Areolar tissue.
NTSE(l)/14 - SAT
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35, @i, 1 Fo vgEl W FI9E Il gE AR AR-SR A e, W B

(1) T (2) = Tt
{3) W W (4) Tl A

Cell organelle that allows cerlain substances to enter or come out from the cell

s
(1} Ribosome ﬁ} Flasma membrane
(3] Cenlrosome {4) Golgi body. -

36. W x, y, z oAEE ArEfEE e § A a, b, o EY FE € 19

! 1 1
T Rba4 xe " TTxa by xe Bt Tyxbrey gt
) =1 (2) ©
L3 (4) 379 @ *1E T |

I x, y. z are positive real numbers and a. b, ¢ are rational numbers, then the
1 1 1

ot | +xP-G4 xc-@ Pl g xa-by xe-b T xboeyya-c "
(1] =1 ] @2 0
3 1 (4) None of these.

37, of WEA o TEG B HAed TETE 3% @ TEN bW HEd 917 A OAEvE
7% 7@ a + bF TEH H AT EETS § '

[y 2: ' 2 3
G 5 4 10.

Il 3 is the least prime factor of number a and 7 is the least prime factor of

number b, then the least prime factor of a + b is

2 21 3

3 5 ' 4 10.

NTSE(}/14 - SAT ' : : | P.T.O.
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38. 9% 9. a. b -6HIFH T HE T a+ b=
(1 1 : 2 5
18 15 | @ s

) & ]
If 9. a. b, - 6 are in Arithmetic progression, then a+ b =

1 1 -

(3) 15 _ 4y 3.

39. ofz M x% 4 bx + 12 = 0% U HE 2% 3T FHFT k2 + b+ g = 0F T

A 7, 7E g =
(1) 8 (2) -8B
3 16 (4) - 16.

If 2 is a root of the equation x2 + bx + 12 = 0 and the equation ¥24+bx+g=0

has equal roots, then g = ) b Y110 2bs ! TS ¢
L o3 L - 3 ¥ )

() B8 2) -8 t 2=

(3) 16 M- 16 D kP

10. A sinB—-cos B =2 sin (90 —-0) @& tanf =
(1 NZ-1 @ V2
(3 1-+2 [4) 2 + 1.

If sinB-cos®=v2 sin(90° -6), then tan @ =

I.ll' ¢
(1] v2-1 @ 3B "
(3 1-v2 (4) 2+ Iy y SinG
NTSE()/14 - ?ﬁ"l" i B
- ot L s
) -4 o i

] ' . :
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41. A acosO-bsinG=c T asin®+ b cos 0 =

(1) :‘u'a2+b2+r:2_. (2) =Valsp®_ 2
121 R [ e TR (4) T

I acos6-bsing=ec then Asnt+ hens =

(1) =vVa2+b24 EE

(3 = 1."(:2 —ac-p2 {4) None of these.

12) :‘\".a3+ h2—¢2

"

AR R R R R L T e —
AT 0 45° ¥ | Tl &1 Sad o § s

) 7(va-1) | 2) 743
@ 7++43 | @ 7(v3+1).

From the top of a 7 m high building, the angle of elevation of the top of a cable

tower is 60° and the angle of depression of its foot is 45°. The height of the

tower iy metre Is L £c f S
[ .
o N | |
- 7(VE-1) 2) 743 9] |
B 7+V3 @ 7(+3+1), }

=Y

; . LW
43. A% wHE ™ joc+ 8y - (k-3)=0, 12x+ ky - k = 0% fifya &7 § 319%

T A, T k = . Toy 4l

1 6 @2 -6 R
oy

(3 0 (4] =9H & =2 T8 ) -

If the system of equations kx + 3y-[(k-3)=0, 12x+ky-k =0 hasT,; °

infinitely many solutions, then k =

(m s K .3 . -r#3 @ -8
' -r: ¥ "4 - |
31 O ' 4) None of these, o -
NTSE()/14 — SAT ‘ -k Ak h k [ P.T.0. -
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44. WEH 12 WA HEnH w Hike ¢

(3 113 @ 14
@ 15 4 17,
?.EJ;-I-;JtrIL‘.S,l-:I!ﬁ % 94

The median of first 12 prime numbers is
Smy 18 - (2} 14
B 15 _ (4} 17.

A5, T TR W A Ew A | e o A 5 s 9w S

35 25
I} a5 (2 55
a4 ‘ 11

A die Is thrown twice, The probability that 5 will not come up either of the time

is
35 25

) 34 @ 36
1 11

(3) 36 1) 36

46. T TF T F AW § 250% F FH B AW 2 A I g Y= dwea fEad wiaeg o9
E

(1}  43.75% (2) 21-88%
(3) 50% (4) 25%.

If the diameter of a sphere 1s decreased by-?.!i%. by what per cenl does its

curved surlace area decrease 7
(1) 43.75% [2) 21.88%
3 a L

(3] 50% {4} 25%.
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47, FFW Y, W W A B, C st p=m fag ¥ | AcHh BowE fam Ew TR
wirse %@ £ fF « BEC = 125° #9 £ ECD = 30° &, i 2 BAC =

(1) 9s5°

(3) 85° 4) 105

In figure, A, B, C and D are four points on a circle. AC and BD Intersect al a
point E such thal £ BEC = 125° and £ ECD = 30°. Then / BAC =

Eot40 = | 1
IS0 T 1a'0 =
Jy 95° 6 e 199 86
(3) 85° ar 105°. ¢

48. ABC#nt BDED ureg fays smvan ¥ & D wa Bow v o & | Bl ABC '
&t BDE® Sawat F1 5799w § |

(1) 2:1 2 1:2
(3) 4:1 4 1:4,

ABC and BDE are two equilateral triangles such that D is the mid-point of BC.
Ratio of the areas of triangles ABC and BDE is , :

I:li Y F"J:
m 2:1 121 R T /'| :
\ i
3 4:1 @14 = . P
- -
NTSE{l)/14 - SAT : [ P.T.O.
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49,

l- N\l
¢

20,

L

A ABCH, AB =63 cm, AC = 12 em 31t BC=6cm% 1=v g#

(1) 120° (2) 60°

(3)  90° (4) a5

In A ABC, AB =6 V3 cm, AC = 12 cm and BC = 6§ em, The angle B {s
(1) 120° @ 60°

(3 90 (4) as5°;

SF 5, ABC %1 14 cm 916 W& g o1 ety & wen BC#! =16 U 9% 0% 3w

i T & | orifE 9 Sewe w
B

(1) 98 em?2 h_{zy 154 em 2
(3) 56 cm 2 (4) 399 9 = =

In figure. ABC is a quadrant of a circle of radius 14 cm and a semicircle {s

drawn with BC as diameter. The area of the shaded region is
B

(1) 98 ¢m 2 20 154 ¢m?2

(3) 56 em?2 (4) None of these,

NTSE(I)/14 — SAT
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51, UF U F YA F NG I CH W G W OH F Fw - G E, wm
B 8:m [2) m:©6
3) n:12 4) 12:m
The ratio of the volume of a cube to that ol a sphere which exactly fits inside
the cube is
) . 6:x __EU_IEJ] ;6
g mia2 L@ 12:m
52. At o PAEE [(x)=x2-p(x+1)-cHFLIHE T (a+1)(p+1)=
1] e-1 2 1l-¢
A8 ¢ N
Il 0. are the zeros of polynomial flx)=x2-p(x+1)-e¢ then
(e+1)(B+1)=
1] e=1 2) 1-¢
3 e 4 14+ e
63, TF S T 4% 5ot wei & | wu @ v ¥ flwiw (2.01) @ (3.-2)8
* e v y = x+ 3 fem ® o e Wi B
8 [%%] 2) (-‘—;g]
@) [-‘%1—;] ) [%g)
The area of a triangle is 5 square units. Two of its vertices are ( 2, 1 ) and
(3. -2 ). The third vertex lies on y = x + 3. The third vertex is
o (33) » (-3.3)
) [-%12—3] @ [%Z]
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www.examrace.com



. A

SAT-3 (229

=

54. @l ¥ 4f QT L PR, £ TOR = 40" 31 £ SPR = 30°% @ y?

-

(1) 70° (2) 110°
[3) 90 480

In figure, if OT L PR, £ TOR = 40" and # SPR = 30°, then y is

(700 2) 110°
(3) 90° (4] 8BO°,

55. (1+ - sec @) ( 1 + cot § - cosec B ) =@ &
(1} o 2) 2
B8] 1 4 =1.
(1 +tan® +secB) (1 +col ©-cosecB) is equal to
(1) 0 21 2

\)_{}3! 1 | 9 -1
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56, W F 1791 % dEaE F A= o6 3 afeensll 3 A g -gus Fo A o v

TFE o1
(1) fo=et #om (2) a5
(3) ieRiTaA | (4) FEED HE |

The club which was most successful; constituted by the men and women of y
France, after the Constitution of 1791 was y
(1) Liberty club (2) Zollverein
3 Jacobin club (4] Equality club.
57. WE# wia A 393 faenl § wafew wee W 4
(1) %=t ¥l | g gen .[2} A e | T AT T
(3) e e T o T (4) WETE WE WET § weHEr |

The great Indians who were influenced by the thoughts of French Revolution

were
(1) Haider Ali & Tipu Sultan _(2) Tipu Sultan & Raja Rammohan Roy
(3) Lala Lajpat Rai & Tilak (4) Bahadur Shah Jafar & Laxmibai.

58. 1850 % =viE B WnAa 1@ ¥F wan ¥ ferg wengl o W € o
(1) A o (2) fe=i g
(3) wATE H : (4) =i F

The use of wood was much needed in 1850s to spread the Indian Railway

Aracks. 1 was used

(1) in Buildings (2) in Railway wagons
(3) in Furniture 4 in Sleepers.
NTSE(l)/14 — SAT | P.T.O.
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59. Teure W2W % e R A we o
(1) Te=r (2) T
(8) =FTETe (4) stz |

The shepherds of Himachal Pradesh are called

(1) Gujjar (2)  Gaddi
~_A8) Bakarwal (4] Bhotia.
60. wmd 7 fifde # ywum o v fow gyem =) F ax 2
(1) 9w (2) sEr
(8) W {4) =mrEf

The first Indian community to start playing the game of Cricket was

£

1) Parsee (2] Christian
(3) Marathi (4] Bengalee.
B1. WA F HER W TE WY T w9 o wen a ae ot
(1) =g 2) ey
(3) T arw wrEy [4) v sEEE |

The Institution like Indian Parliament that was established after the French

Revolution in France was

(1) Duma (2) Zollverein

(3) House of Lords .41 National Assembly.
62. Famm d ‘g weil' w=ew ¥ gear 4

(1) =iy (2) =R

B TEWWA (4) Terai fearsq |

The founder of 'Hoa Hao' movement in Vietnam was
(1) Confucius (2) Laotse

(3) Huynh Pho So __14) Liang Qichao.
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63, o8 wem W s uw we e fave d 9 e 5 o aw #
(1) FEe (2) W HEE
(8) T (4) =rfgrmes |

In which Conference were International Monetary Fund and World Bank
established ? '

(1) Brussels : (2) Bretton Woods 9
(3] Vienna “d4) Washington. ‘
64, wEFAl warm H avad faed amell W w3 wen §
(1) = (2)
@ TmE @) ==

Bombay was a group of how many islands in 17th Century ?

JH Seven (2) Nine
(3] Eleven {4) Five.
65. =Haen Bl A 99 T § oifa v & favg e ae 2
(1) #wR St @ e
(3) Efewng (4) e |
In which text did Jyotiba Phule write about the injustices of Caste system ?
(1] Amar Jivan A2)  Gulamgiri
(3) Indirabai (4) Indralekha.
66. wer werredl W feem wed FCE
(1) w=wEl 2) FregEHAE
(3) SerMHEEH @) =g

Hill station located in Palani Hills is

(1} Panchmarhi 2] Kodalkanal
(3) Udagamandalam (4) Panchgani.
NTSE(I}/14 — SAT - [ P.T.O:
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67, feifFad A wd gm §

(1)
(3)

T — =AE Aa
=g — TEEil 981

[26 ]

(2) SHIHEEE — = G
(4) FoA — HHA T |

The correct pair amongst the following is

(1)
(3)

68, Tr=ifEa wed =) gafen i

(1)
(2)
(3)
(4}

Match the following columns :

(1)
(2)
13)

52

Chamba — River Chenab

Nanded — River Godavari

= - I
(A FEETE

(B] #HEH

(C) TrsTEm

(D) T

A B C
il iv i
iv i i
i i iv
iv il i

Column -1
[A) Uttarakhand

(B] Assam

([C) Rajasthan -
(D) Kerala

A B C
il v

v il i
il i iv
v - il i

NTSE(I}/ 14 - SAT

il.

12} Kanchipuram — River Parvatl

)

(4) Ujjain — River Son.

e - I
() wfte a4 e gy fEew
@) ufEr = e

(i) wEE == e

(iv) e M 39

Column - IT
(il Sariska Wildlife Sanctuary
fii) Periyar Tiger Reserve
(i} Manas Tiger Reserve

{iv)} Corbett Nalional Park.
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69, %2 % WA B 2 A TR S 9w I Pt A ) s w -

o g

B) IR

C) e

(D) 2AmrEs]
) B,.C. D.A 2) B.D,C, A
@] D.C B A 4) D, B. A, C.

By using code, arrange the following cities of India from south to north -
(Al Amritsar
(B) Anantapur
(€] Alwar
(D)  Amaravat, ( {

(1) B.C.D, A @ B.D.CA

3 D CB A 4) D, B, A C.
70. '@y afe’ §

(1) == iR femr=a wew F wfvedt faay
(2) T~ s VARl g adE afeeErE i A
(8] Fww it wetew H qd-wrs wyl
(4) @ gEiEdl § wee B |
‘Mango showers' are
(1) Western disturbances in Punjab and Himachal Pradesh
{2) Rainfall by north-east trade winds in coastal Tamil Nadu
i @l .~ Pre-monsoon rains in Kerala and Karnataka
(4) Cloud burst in Khasi hills,

NTSE(l)/14 - SAT LET0:
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71. T=fafes w2 =t fag= =1 .

fa=T (A) . Togm & fafmin e s s fEm e &
% (R) : UH 24 TEE 99 o Tou w10 fEsitamy s F o smEeEE
gt ®

Tt fasredl 9 9 w1 fomrey = === #if .

(1) (A)EElE, wg (R) oW €

(@ (A) 7E (R) o wEE sl (R), (A) W TR sATEn wam R

(3) (A) AW (R)EH wET ¥ T (R). (A1 wE == aﬁm 2

(4)  (A) 791 (R) T TER T

Consider the [ollowing statements :

Assertion (A) : Manganese is used in the manufacturing of steel.

Reason (R) Nearly 10 kilogram of manganese is needed to make one

tonne ol steel.
Select the correct oplion from the given allernatives :
(1) (A)is true, but (R} is [alse
_I2" Both (A) and (R} are true and (R} is the correct explanation of (A]
(3) Both (A} and (R) are true, bul (R} is not the correct explanation of (A)
(4] Both (A) and (R} are {alse.

72, URA H Gieagy defie e w5 uety geed Fwl 2 ?

(1) =mege (2) =

(3)  fewe (4 T
- Where is the national headquarters of Software Technology Parks of India ?
(1) Bengaluru (2) Chennai

;:3] New Delhi {4) Pune.

NTSE(l)/ 14 - SAT
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78, TEE TEEr -7 A & R T | gt e § 7
(1) 6 2 5
(3 8 4 7.
National Highway-7 passes through how many states of India ?
m 6 ) 5

P 8 | @ 7.

74. fFEifEs sy 7 fFEn & & w9t foeey =1 993 &6

e | : Mwﬁwﬁwmﬁaﬁ%|
HYA 1 . S T2TRE YT T S FEE F o I9EE §
HYF 111 . oreuEe Hel el AR afgerrg H wd e §

(1) F=A %67 w99 15 €, Wa F97 W § )
(2) F9F 11 3 FeF e &, 7ig FE 16 F
(3 FA I3 FE NIEE F, oG w7 F )

(4) @t @ FEA EEE

Consider the following statements and choose the correct option :

Statemient 1 Humus content is less in Laterite soils.
Statement 1l : Red laterite soils are sultable for crops of cashewnut.
Statement 111 : Laterite soils are lound in Kerala and Tamil Nadu,

(1) Statement | and Statement 1l are true. but Statement Il is false
(2) Statement Il and Statement [l are true, but Statement | is [alse
(3) Statement | and Statemnent III are true, but Sta_temm:tt Il is false

(4) All the three statements are true,

NTSE(I) /14 - SAT | P.T.O.
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75. WA 2011 % FAEN, Gaifus seen g 9w e b

(1) T 12) ufeem wme
(3) IW wew ' (4) Taem |
According to Census 2011, the state having highest density of population is
[1) Kerala (2] West Bengal
d;lz”Utlar Pradesh (4) Bihar.
76. HE-IF WE-0H foem S o w8 sw v s
el - I : et -
(A)  HET & S F A ufm ow dea I - HTEN
(B) = & vl o wiwdl =1 deam 11, TEEE HIEH

(€) fafim wmifses waEl & &= w0 1 aEEr 1. wfwd) =1 faarem
(D) = =S F e < & ara g W we V. o wEw

A B e D
(1) I Il I v
(2) u1 v I I
(3) NI I v l
{3 . I11 I1 1.
Match List-1 with List-II and select the correct answer :

List -1 List - II
{A)  Division of pD‘;F-FEl‘B among organs of I. Community government
governmenl

(B) Division of powers between Centre and 1l. Coalition government

States
(C} Sharing of powers among different HI. Separation of powers
social groups
(D) Sharing of powers between two dr IV. Federal government
more than two parties,
A B C D
(1) 1 1l i Y
(2) 11l v I 11
@ u mo w1
i 4 v 1 | I.

NTSE(I)/ 14 — SAT
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77. TOEN F AT AN S FwE w1 e e g f
(1) == (2) =rEUTeTR]
(3) =PI (4) wE |

The organ of government which makes laws is

I3 Legislature (2] Executive
( [4) Judiciary (4) Press,
78. fom dean o wfeensif it ww-foerd smam 9@t w0 8 gEm R o € ww E
(1) iR , (2) T fEurE
13) dEmEE T Hen (4) =rEETER |
The institution in which .; rd reservation for women has been constitutionally
given, is
{1} Lok Sabha [2) State Legislature
(3) Panchayati Raj institution (4) Judiciary.,
79. vRdE Hfaum @ 3w F-w sfuwn &, S e oo 9 9re el &y s 2
(1) wwFE F A (2) A= F ATUHE
(3) Wi = ) Hfbw (4) viEm % faeg wfwFEn |
Which right of the Constitution of India negates the bonded labour and child
labour 7
{1} Right to equality (2) Right to liberty
(B) Right to religious [reedom 4} Right against exploitation.
80, wirmmw H aryfem wiedl & fod farat w@e omfem € 2
(1} 84 (2) 47
(3) 32 4] 22.

How many seats are reserved for Scheduled Castes in the Lok Sabha ?

(1) 84 ' 2 a7
(3) 32 (4) 22.
NTSE(l)/ 14 — SAT | | P.T.O.
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81, ‘wWeRrEEE s el o umm | maten §, aw
(1) e (2) ==
(3) (4) AFY W |
‘Maharashtrawadi Gomantak party’ is related to which state ?
1 Maharashira (2) Goa b
{3) Kerala {4) Andhra Pradesh. y
82. ‘#m sfvew' 9hE & GoEs FA & ? -
(1) “EETaE TEE [2) e TEE
(3) TR (4) =& T faee |
Who was the editor of Young India’ magazine ?
(1) Jawaharlal Nehru (2) Gopal Krishna Gokhale
(3] Mahatma Gandhi | 41 Bal Gangadhar Tilak.
83, HgEa e Uy d o9 2w & ng o e &, 9w
(1) = (2) w9
(3) el (4) W |
Which eountry holds "Veto Power' in United Nations ?
{1}~ Germany (2) Japan
(3] Haly (4] France.
84, EvHfa, e ud wEmEE ( weEfed ) & s W o U9g W Ted g, uE
(1) IHEvs | (2) dom=
(3) oA (4) wEETE |
Which state was created on the basis of culture, geography and ethnicity 7
(1) Uttarakhand (2) Punjab
(3] Guijarat (4] Maharashtra.
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85, HE-1 1 gei-1 Y foem Fifsd v 7t s = i

(1)
(2)
(3)
(4]

et -1
(&) FHEE * e

(B) = =Y W =

() wem=T fedlt & wgeda

(D) Trreiifis o

A B e
11 v 1
I 11 IV
v 1 1

Il

I

[

D
I
I
11

V.

I.

I,

II.

I i
FEA T T

HEHRN

IV, SMEE |

Match List-1 with List-I1 and select the correct answer :

‘_[,1)..

12)
(3)
(4)

(&)
(B)
(C)
(D)
A
11
I
v
11

List - I

Organisation of employees

Long term movement

Support to commeon or general interest

Political party
B C
v I1
11 v

|
11

111
I

D

i
I
11
V.

86, Frfafes & § - wH wnfdw fFm & 2

(1) ZEAIF 5 T 51 g
([3) =9 g e w1 e T

Which work of the following is an economic activity ?

(1)
)
(3)

)

Teacher teaches his son ;
Service rendered by a wife to her sick husband -
Service to a patient rendered by a nurse

Growing vegetables in kitchen garden.

NTSE(I)/14 — SAT

L.
(142

HI.
V.

List -0
Narmada Bachao Andolan
Asom Gana Parishad
FEDECOR
BAMCEF.

U g AerR af 1 g9 w0
w1 % e g gt 3|

['P.T.0.
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87. ?ﬂﬁ#ﬂﬁﬁmﬁmmﬁtﬁﬁ%ﬁ
() = faem #
B T e e §
() mh%ﬁwﬂﬁnﬁ?ﬂ?
(D) H&1 1 959 agal § |
(I} A¥hR B 21 BahC
@ ABdErc (4) A, B, csiit D,
People deposit money in the bank because
(Al Get Interest
(B)] Money remains secured
(C) Money is used in country's development
(D) Value of money increases.
(I} AandB (2) BandC
(8] A BandC " A B CandD.
88. Iy AvH FariR T srfufran F o felefen A A S A s ¥ 2
(A] W & AR F W™ HW F1
(B) =iy F 100 & w1 Twm
© FmFwhasidanm
(D) &S Y R I |
(1) A B3 C 2) B.C3D
(3) A B3 D (4) A, B, C#R D.

Which of the following statements are true for National Rural Employment
Guarantee Act ?

{A)  Right to work with guarantee of job
iB) 100 days employment in a year
(C) Implemented in all tﬁe regions of the country
{D]  Provision of unemployment allowances.
(1) A BandC (2) B Cand D

(3) A Band D \___,,,l-i] A B Cand D.
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89, i & fum wewH Tmmera # 5] @ foeF F 9w W wdE ¥ | gl 7vE i gF e
. FEgd #a FO & fo 3% o Fefafes § 8 Sh-w w2 o7
(1) sdtes g (2) witee wE
(3) mam wiE (4) siwieg =E |
Since five years Lalita's father is working in Government school as a teacher. To

purchase goods from a government ration shop which of the following cards

should he possess 7

(1) BPL card \.ng APL card

(3) Aadhar card (4) Antyodaya card.

90, et i A F fevg Fretfean # § @@ we €

() T F a1 oftufy @l @
B) @i w1 feufy # gew Ea
() imﬁ%mmqﬁmﬂgﬂnﬁm%
(D) = H gee ¥ vl w9 ggd §

(1) AR B (2 B&#R C

(@) AR D (4 caiD.

Which of the following statements are true for mid-day meal scheme ?
(A) Increase in attendance of children in school
(B) | -Imprmrement in nutrition status of the children

1 () Improvement in examination results of the children

(D) Increase the interest towards games In the children,

‘me Aand B (20 BandC
(3 Aand D (4) C€CandD.
NTSE(l)/14 — SAT | P.T.O.
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